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Notes: a) Q 1is Compulsory
b) Any 4 Questions from Q.2. to Q S.

Q.1. a) Selectappropriate answer from alternatives given and rewnte the sentences i~ 10
1) Omission of paise and showing the round ﬁgures m ﬁnancml statement is
based on :— :
A Conservatism concept
B. Consistency concept
C. Materiality concept
D. Realization concept :
2) Accounting does not record non-ﬁnanclal transactlons because of -~
A Accrual concept -
B. Cost concept
C. Continuity concept ~-
D. Money measurement concept . :
3} Which ofthese not a fundamental accountmg assumptlon ?
A Going concern .
B. Consistency
C. Conservatism
D. Accrual B - : _
4) Fixed assets and current assets are categorlzed as per concept of —
A. Separate entity R
B. Going concern
C. Consistency
D. Time period- AN R S
5) The obligations of an enterpnse other than owner S fund are known as :—
A, Assets : _ SRS
B. Liabilities
C. Capital
| D. None of these
6) Which concept requires that only those transactions which canbe expressed
in terms of money should be recorded in books of aecount ?
A.- Business entity - S e
B. Dual aspect - _
C. Money measurement
D. None of these -
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~7) Anasset was purchased for Rs. 6,60,000. Cash was paid Rs. 120,000 and for
the balance Rs. 5,40,000 loan was taken. What will be the effect on fixed. .
assets ? It will go up by :— _
A. Rs. 1,20,000
+C. Rs.6,60,000 - . . .
'D. NIL
8) CashofRs.2,000is withdrawn for personal expenses Thls will be debited to
which account :— S
A DrawingsA/c
B. CreditorA/c
- C..; CapitalA/e ..
D. CashA/c :
9) Estimated selling price less estlmated cost of sales is =~
A. Netrealizable value L '
B. Costofpurchase = .. . .
- C.. . Cost.of goods sold
D. None
10) Proprietor is treated as creditor of busmess due to: —_j
A. Periodicity concept s
B. Materiality concept
C.. Entityconcept - ... .
D. Consistency concept

Q.1. b) State whether the following statement are True or False -
1)} Double Entry system is very unscwntlﬁc N i
:~2) .Book-keeping and accountin g are - synonymous tenns._.. .
3) Sales Account is Nominal Account, S
4) Accounting is the language of the business.
5) Goodwillis a current Asset,

Q.1 .¢) MatchtheFollowing:~ .. . MR SR IR
, " Growpa 'GroupB'

1) Related Party Disclosures N a. AS 10
1 2) IntangibleAssets b ASS
| 3) Impairment of Assets c. AS18 |
4) Revenue Recognition d AS26
5) Accounting for Fixed Assets e. AS27
f. AS28
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Following is the Trial Balance of M/s Shetty Traders as on 31 March, 2016. Prepare 20
Tradmg Proﬁt and. Loss Account for the year ended 3 15‘ March 20 1 6 and Balance Sheet -

as on that date ;—~

 Trial Balance as on 31St March, 2016

Particulars ' Deblt._ ~.Credit |

"Machmery ‘ e g 000. foe
" Salaries s 00 [

“‘CashinHand -~~~ 7 v ornao00 ¢
. Office expenses 1,000
1" MotorVan 0 01000 |0 0
CCapital T e 1 1L,70,000
g 'Camage - S S I 5,000

. -'::'Retums T 2,000 (0 5,500 -
Baddebts 7 | Tooo |
'SundryDebtorsandCredltors 2800 |

|, OpeningStock .. 300008

Cash in Bank _ 50,000

Purchaseand Sales 2,20,000 | -2,88,000

Rent o Lo |
Printing and Statlonary oS00y
Travellingexpensés" Com e e s 500 |0

Discount L : 6,000 RN
Advertisement 77 1714,000
Furniture e 30,000 |

Total | 531,500 | 5,31,500

Adjustments

1.

2)
3
4)

5)

Closing Stock was valued ‘41 000 e

Goods of 5,000 withdrawn for pcrsonal use but were not rccorded

Goods of ‘1,000 were distributed as free sample. . . :
Debtors of ‘800 were bad and provide R.D.D. at 5% on debtors and make a
provision for discount on creditors at 2%. - .- . . :
Depreciation Machmery by 10% p-a,.and Bmldmgs by 50% p a.
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Q3. M/s Sagar anted purchased a Machmery for Rs. 3,00, 000 on 15tApnI 2013 Addltlonal 20
" machinery was acquired for Rs.3,00,000 on 30 September, 2014 and Rs 50, 000 on
1%*April, 2016. '

Machinery which was purchased on 30‘*’ September 2014 was sold for Rs 2,55,000 on
30™ September, 2016.

You are required to give Machinery Account, Depreelatwn Account for the year ended
31stMarch, 2014, 315t March, 2015, 31 March 2016 and 31St March 2017, taking into
account deprecmtlon @ 10% on written down value method.

Q4. A) Journalize the follewing Transactions during the month of Apfil ,vve"re as follows:— 10
- 2016 :
April1  Purchased goods from Meeta worth Rs. 40, 000 at 10% T.D. and paid %
~ amount in cash and ¥ amount by cheque, for which 5% C.D.is allowed.
4 Purchased shares of Reliance Company Rs. 12, 000 and Rs. 200 paid as
.. brokerage. .
. 7. Soldgoods to Sunil worth Rs. 60,000 at 10% Trade Dlscount and 5% Cash
Discount. Received !/, amount in cash and '/, amount by cheque and 5%
C.D.is allowed. .
11  Paid Telephone Bill of Proprletor s house Rs. 700
14  Paid House RentRs.1,500 L
.20 . Received goods as free samples worth Rs 2 000
.23 Purchased Furniture of Rs. 30,000 |
23 Paid Carriage Rs. 300 on above furniture

Q4 B) State with the reasons whether the following are Capltal (Expendlmre/Recmpts) 10
Revenue (Expendlture / Recelpts) (Answer any 5) :— . _
a)  Rs.1000 was spent on painting the factory.
b)  Cost of goods purchase for Resale.
-¢) - Depreciation on fixed asset.
d): - Money Raised by issue of equity shares.
) - PaidRs. 70000 for Construction of Railway Sldmgs
f)  Purchased Land Rs. 100,600 SRR
g) Labour charges of Rs 1500 paid on purchase of Machlnery

Q.S._ erte ShortNotes (Any 4) e R R e OR UL S S .20
© i a SystemofBookKeeping - S R = '
b. Various users ofAccountmg Infonnatlon L
e Business Entity Concept - g
d. Widely Accepted accountmg Concepts
e. AS10

;
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N.B.: (1) Questlon No. 1 is compulsory.
(2) Attempt any three questions from Questlon ‘Nos. 2 to 5.
(3) Working shouid be part of your answer.

1. (A) Multiple Choice Questions :— | | 5

(1) Contribution is the difference between ,
(a) Sales and Variable Cost - ~ (c) Salesand Total Cost
(b) Sales and Fixed Cost " (d) Factory Cost and Profit

(2) The classification of fixed and variable. cost has a special: sxgmficance in the
preparation of

%*i { (a) Flexible Budget .(c) .Cash Budget
i (b) Capital budget {(d) Zero based budget
(3) While evaluating dev1at10ns of actual cost from standard cost, the techmque
used is
(a) Regression Analysis » (c) Varlance Analy51s
(b) Linear Progression ~ (d). Trend Analysis

(4) Total costs incur in a production process is d1v1ded by total number ef output
units for calculating the S

(a) Cost of indirect labour (c) Cost of dlrect labour
(b} Cost of direct material T (d) Umt cost
(5) Contract Costing is usunally apphcable in ' R
(a) Constructional Works -~ (c) Textlle mills . .
(b} Cement Industries (d) Chemleal Industrles O
(B) State weather statements are TRUE or FALSE — - 5

(1) Equivalent Units are computed to assign costs to partially ccmpleted units.
(2) Contract costing is a form of JOB costing. :

(3) Marginal costing is also known as variable costing. - -

(4) Flexible budget and Cash budget are part of budgetary control

(5) The standard cost per unit of material is used to calculate a materlal price

variance. SR ,
(C) Match the following :— : 16
- COLUMNA 1 COLUMNB o
(1) <25%profit .-~ - - | -(a) FIFOmethod ‘ S
(2) VariableCost. . |~ (b) Fixed cost/P/V ratio”
(3) Process Costing: | “-(c)--Standard cost-Actual cost
{4) BEP : | - {(d) 1/3 of notional profit -~
5y Mmcv. . .- .. . |  (e) Perunitneverchanges . |:
(6) LRV .| -Af) - Budgetarycontrol . .
(7) Cashbudget ‘ (g) (SR-AR)*AH - _
(8) Inventory Control (h) Abnormal Gain Account .=
(9) Marginal Costing - (i) Amountis constant =
(10) Fixed cost “hep(§) ‘Variable costing -

1-8V-9-2-C-123-AT-4631



“Con. 123-AT-463117. 3 o . |
2 The following data relate to process: M poe T e “ 20

1)

(2)

3).

A
ot
i

OF

)

(6)
(7)

(8)

Openmg work-in-progress 6500
Degree of completion :

Materials - 100%
Labour 60%
Overheads 60%

Total cost 70000

Received during the month of Apr11 20 16 from Process L
- 60000 units cost 260000 R

Expenses incurred.in Process M during the month

Materials 118500
Labour '2‘10000
Overheads : - 1080 00
Closing work-ln-progress © 4500 units ©
Degree of completlon o
Materials 100%

Labﬂur& 0verheads 50% G e |

Umts scrapped 5500 units

- Degree of completion :
Materials = . 100% T
Labour & Ov\,rheads 80%. - .+

Normal Loss 5% of current lnput |
Spoiled goods realized 1.50 eachonsale. . =~

Completed units 5 6500 are transferred to warehouse
Required : ' SRS : 4
(a) Equivalent umts statement - , |
(b) Statement of cost perEquivalent. umt and total cost
{¢) Process M Account : SR
Use FIFO method.

3, (A) The Revati Electromcs Co furmshes you the followmg 1ncome mformatlon of 10
the ear 2015. - :

" Particulars ‘ 1 Flrst half ‘Second haif
| Sales -.2_~.-.—.‘407000 515000
Profit . .= ~ (- 11000 - 32600

From the above table you are requu-ed to compute the followmg assummg that
the fixed cost remams the same in both the periods. Lo

_(a) P/VRATIO
~ (b)" FIXED COST -

() BREAKEVENPO]NT
~ (d) VARIABLE COST for both perlods I

.‘(e")j ' The amount of sales requn‘ed to'earn a profit of 54000

2-8V-9-2-C-123-AT-4631 el
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(B) You are supplied with the information relating to sales and cost of sales of a 10

manufacturing company :—
' Sales (10000 units) 120000
Variable Cost 48000
Fixed Cost 60000
You are required to find out :—
(a) P/VRATIO

(b) BREAKEVENPOINT

(¢) MARGINOF SAFETY

(d) Profit when sales are 160000

(e) Sales required to earn a profit of 75000

4. (A) M/s. Jeet Enterprises is currently working at 50% capacity and produces 12000 units. 10
At 65% working raw material cost increases by 3% and selling price falls by 3%
At 85% working raw material cost increases by 5% and selling price falls by 5%
At 50% capacity workmg the product cost 22 p.u. and sold at 25 per unit
The unit cost of 22 is made up as follows :— _

e
e T
et

i

Material 12
Wages 04
Factory Overheads 04 (40% Fixed)
Administrative Overheads 02 (50% Fixed)

- 2

Prepare a statement showing the estimated profit of the business when it is operated
at 65% and 85% capacity.

(B) A manufacturing company uses the following standard mix of their compound 10
in one batch of 110 kgs of its production line.
55 kgs of material L at the standard price of Z 2
35 kgs of material M at the standard price of ¥ 3
20 kgs of material N at the standard price of ¥ 4
The actual mix for a batch of 120 kgs was as follows :—
60 kgs of material L at the price of ¥ 3
40 kgs of material M at the price of ¥ 2.5
10 kgs of material N at the price of T 4
Calculate the different material variance.

5. Write short notes (any four) :— 28
(a) Duties of management Accountant -
(b) Objective of Cost Accounting
(¢} Scope of management Accountmg
(d) Abnormal Loss
(e} P/VRATIO
(f) Eguivalent production

ool
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N.B. (1) There will be Five Questionsin ail.. S
{2) Question No. 1 is compulsory which carries twenty marks
(3) Attempt any three fromthe remaining questions. .. 5.
(4) Numbers to the right-hand-side indicate total marks
(5) Draw flow-charts, diagrams, where necessary. . . . ... .

(a) Fill in the blanks :— 5
(i) Bills are assets. :
(Liquid, fixed, variable)

o (i) The financial system or financial sector of any country consists of specialised

and non specialised financial institutions, of organised and unorganised

financial markets, of financial instruments and services which facilitate -
of funds.

{Transfer, block, movement)
(iii) Prof. Sayers characterises as creators of credit.

(Banks, Financial Institutions, Intermediaries)

(iv) Treasury bills market, call money market and commercial bills market are
examples of : markets. -
(Capital, Money, Debt)

(v) : markets refer to the markets in villages or rurat areas.
(Organised, Call Money, Unorganised)

T
AT
e

(b) Maich the Column A with Column B :— ' 5
Column A Column B
1. Call Money Market (a) UTI, GIC, IDBI, NABARD
2. Participants of Indian call money market (b) T 150 crores
3. The initial paid up capital of DFH! is (c) Promissory note
4. Treasury Bill (d) Base currency
5. Euros {e) Extremely short period loans
(c) Answer in one sentence :(— : - 10

(i) What is discount market ?
(i) Name the major participants of secondary market
(iii) What is meant by Notice Money ?
(iv) Explain the term VOSTRO account.
(v) What is venture capital ?
(vi) What is meant by indirect rate ?
(vii) What is meant by foreign exchange market ?
{viii) A bank in New York quotes: USD/INR 69.2350-69.2360
Find Mean Rate, Spread and Spread Percentage. : [ TURNOVER
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‘State the functions of capital market,

State the advantages and disadvantages of CaIE‘Mb‘ney Market.

“In an accounting sense Balance of Payments always balances.” Explain. -

State the golden rules of investing principles.

20

.20

20
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N.B. : (1) Question No. 1 is compulsery and Carnes 20 marks , ;
(2) Answer any three questions from rest of the questions each carrying 20 marks
(3) Proper presentation & neatness is essential. Working notes should form patt of your answer.
(4) Useofsimple calcu!ator is allowed. : :

1. {(a) SuggestOne Word/ Phrase — NS C 5
. (1) Excessofcash inflows over cash outflows: .. - e el
(2) The economic resources owned by company L
(3) Gross fixed assets minus accumulated deprecxatxon Lt el
(4) The fund deployed by a company in the form of cash, inventories etc
(5) Ability of an asset to be converted in to cash without suffering a loss as far as
. possible
& 7. (b) State whether the following statements are Frue / False:and Rewrite them, - . -5
(1) Maximum capital which can be raised by a company is called Issued Capltal
(2) Intangible Assets which cannot be converted in to cash are called Fictitious Assets
. (3) " Current assets which are converted in to cash in the normal course of business
are called Floating Assets. P . :
.. (4)." Excess of Sales over.cost of goods sold is Gross Loss » '
(5) Reserve whichis in built and wh1ch isnot dtsclosed is calied secret reserve

"R
e
e,

(c) Match the following :— - . . o 5
: - (1).. . Report to the. Members , (a) nght t0 Access Books of' Accounts
(2) Disclaimer of Oplmon .+ (b).. Revenue.
-(3) - Inflow of Cash - - < (cy: -Auditor does not express an opinion
(4) Economic Value Addltlon (d) ‘Measure of Corporate Performance:
. - (5) . Statutory Auditor - .- . - (¢).. Basic duty.ofan audltor - .
- (d) F 111 in the Blanks by choosmg appropnate altematlve B 5
‘ 2 (1) Asper__ - .. cashflow statement is mandatory to all the hsted companies

1 Accountmg Standard - (11) Auditing Standard . . (iii) Secretarial Stanadard
(2) Ascertaining financial position is the objective of
R (1) Proift & Loss Statement . {(ii)Fund Flow Statement (iii) Balance sheet o
ST ) provides the value of the shareholders equity as of spemﬁc date”
.~ - (i) Balance Sheet - (ii). Cash Flow Analysis - (iii) Profit & Loss Statement
= -‘-‘(4) - Disclosure requirements regarding Fixed Assets are mentioned in
ST - (i) Fixed AssetRegister ... (i) CARO . (iii) Auditors Report
o (5-) .. .. isanexampleof external corporate governance control ;
(1) Medla Pressure (11) Govcrnment Regulatlons (111) Both (1) & (11)

2. (a) DISCUSS in Brief the various components of Proﬁt & Loss Statement R 10
. {b) The standard ratios for the industry and the ratios of “Sardar Lumted” are gtven ' 19
lee your comments on the performance and financial management of the- company '
Industry Standard Actual of “NH-IO Ltd” -

(a} NetProfitRatlo o 330% " 2.10%"
“. - (b) CurrentRatic - o " 2.4 S 26T
“ " {c¢) LiqudRato - -ll oo o o 21 T
- (d)- ProprietoryRatio - - -~ - 05:1 - -~~~ - 0851
“(e) Debtors TurnoverRatio . 90Days . ... . .60 Days
(f) Gross Profit Ratio 25% 20%

- S @ [TURN OVER
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3 (a)  What s the utility of cash flow statement to ﬁnanetal management 9. 10
(b) From the following details prepare Fund Flow Statement & offer your comments in brief. 10

Redemption of Preference Shares

50000

~ Payment of Dividend o 42000 :
W 5'-‘PaymentofInteanlwdend 7020000 0
- Payment of Tax © 40000 -
Purchase of Plant © 142000
Purchase of Investments 11000
Funds from operations - 183000 - e linanet
Equity share capital raised ST TRRNT00000 5 N o
Sale proceeds of land o 500000 e T
" Sale of Machine o 10000
Dividendson Investments 3006
- Increase in Working Capital © 41000
4, (a) Writeadescriptive niote on - Management D1scuss1on&Analys1smthe Annual Report e 10
- (by - Wnte adescr1pt1ve note on- Notes on Accounts T 10

5 (ay- Fromthe followmg partlculars prepare the cash ﬁow statement for the year ended 31 03 2015:— 10

2:8V-22-2-C-127-AT-4131 -

' (f) Cash Sales Rs.6586000/-.
. @y Cash collected from Debtors during the year amounted to Rs 3323400/-
f(iii)'i ‘Cash paid to suppliers'was Rs,7936810/-. - = -~
. (iv) Rs.987500/- was paid to employees towards yearly bonus
W Furniture of the book value of Rs.18500/- was sold forRs 1 1000 and anew furmture
L costing Rs.83160/- was purchased.
- (vi) - Debentures of face value of Rs:300000/- were redeemed at apremmm of 2% interest
7o ondébentures. Interest on Debentures of Rs.84000/- was also paid. = -
(viiy Dividend ofRs. 450000/— for the year ended 3 1st March 2015 w111 be dlstnbuted
: in May 2015. :
-7 (i) Cash in hand and at bank ason 3lst Mareh 2014 and 3 1 st March 2015 was
©° " Rs.51070/-and Rs 574000/- respectxvely
(b) - Calcuate the Trends from the followmg follomng data & offer you:r bnef comments 10
{1 “ Particulars ' '31.3.2016 | 31.03.2015 | 31.03.2014
Revenue from 0perat1ons oo C 26,180 | 0 22279 | 18,779
- OtherIncome : 784 |0 5360 | 336
Total - : ‘ 26,964 | . 22,815 - 19,115
Cost of Raw Matertals Consumed _ - 7,810 .1 - 7,137 6,637
Employee Benefit Expenses ' 1,944 | 1,708 1,458
Power & Fuel o o .945. o 7090 2 7600
Finance Costs LIRS U ST O B
-Deprecxatlon&Amorttzanon ~n 7850 L 700 o 625
Other Expenses ‘ - 55752 5,034 4,334
Total ‘ 17,287 15,3591 13,715
Profit Before Tax 9,677 - 7,456 1 5,400
Less: Tax 3,193 - 2,461 1 - 1,929
. Profit After Tax. 6,484 4,995 1 - 3471




